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1. Evaluate

∫

x5 + 2

x2
− 1

dx.



2. Find

∫

sec6(x) tan9(x)dx



3. Find

∫

1

1− 5 sinx
dx

Hint: Use the substitution t = tan
(

x
2

)

, −π < x < π.



4. Evaluate

∫

dx

(4− x2)3/2



5. Determine whether the integral

∫

0

−∞

ex

2 + ex
dx is convergent or divergent? Find the

value of the integral if it is convergent.



6. Make a substitution to express the integral

∫

1
√

x−
3
√

x
dx as a rational fraction

and then evaluate the integral.

Hint: Use the substitution u = 6
√

x


